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QUESTION 1

What is the value of the expression: 3 + 2(3 + 4)2 - 6 

A. 239 

B. 95 

C. 19 

D. 38 

Correct Answer: B 

 

QUESTION 2

Enrique weighs 5 pounds more than twice Brendan\\'s weight. 

If their total weight is 225 pounds, how much does Enrique weigh? 

A. 125 pounds 

B. 152 pounds 

C. 165 pounds 

D. 115 pounds 

Correct Answer: B 

 

QUESTION 3

Sam, Paul, and Dean share a sum of money in the ratio 14:16:18 respectively. Given that Sam receives $2100, how
much does Dean receive? 

A. $2400 

B. $2000 

C. $2700 

D. $5100 

Correct Answer: C 

 

QUESTION 4

The price of a pencil box increased from $25 to $26.50. What is the percentage increase in the price? 
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A. 6% 

B. 35% 

C. 60% 

D. 0.6% 

Correct Answer: A 

 

QUESTION 5

Brad plans to leave instructions with his broker to sell all of his shares in a particular company if the value of its stock
rises more than 10% above the current price, but to purchase additional shares if the stock\\'s value falls more than 10%
below its present value. The stock is currently selling for $73.50 a share. 

Which expression represents the interval, n, between which the broker should neither buy nor sell any shares of the
company\\'s stock for Brad? 

A. 69.83 

B. 73.60 

C. 66.15 

D. 63.50 

Correct Answer: C 
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